<JOLLY RICAMBI

BULLONE TESTA A BRUGOLA 8.8

JR21017001 M6x1 12 10 5 | [JR21017036 M10x1,25 80 16 8 | [JR21017072 M12x1,5 60 18 10

JR21017002 M6x1 16 10 5 | [JR21017037 M10x1,5 16 16 8 | |JR21017073 M12x1,5 65 18 10

JR21017003 M6x1 20 10 5 | |JR21017038 M10x 1,5 20 16 8 | |JR21017074 M12x1,5 70 18 10

JR21017004 M6xXx1 25 10 5 JR21017039 M10x1,5 25 16 8 JR21017075 M12x1,5 75 18 10

JR21017005 M6x1 30 10 5 | |[/R21017040 M10x1,5 30 16 8 JR21017076 M12x1,5 80 18 10

JR21017006 M6x1 35 10 5 JR21017041 M10x 1,5 35 16 8 JR21017077 M12x1,75 20 18 10

JR21017007 M6x1 40 10 5 | [/R21017042 M10x15 40 16 8 | [JR21017078 M12x1,75 25 18 10

JR21017008 M6x1 45 10 5 | [JR21017043 M10x1,5 45 16 8 | |JR21017079 M12x1,75 30 18 10

JR21017009 M6x1 50 10 5 | |JR21017044 M10x15 50 16 8 | |[JR21017080 M12x1,75 35 18 10

JR21017010 M6x1 55 10 5 | |JR21017045 M10x15 55 16 8 JR21017081 M12x1,75 40 18 10

JR21017011 M6x1 60 10 5 | ['R21017046 M10x15 60 16 8 | |JR21017082 M12x1,75 45 18 10

JR21017012 M8x12 12 13 6 JR21017047 M10x15 65 16 8 | [Jr21017083 M12x1,75 50 18 10

R21017013 M8x12 16 13 o | LR21017048 M10x15 70 16 8 | |)R21017084 M12x175 55 18 10
: JR21017049 M10x1,5 75 16 8 | [Jr21017085 M12x175 60 18 10

lReto17012 M8x12 29 13 © I [1R21017050 M10x15 80 16 8 JR21017086 M12x1,75 65 18 10

JR21017015) MEx -2 1% 1231 ¢ JR21017051M12x1,25 20 18 10| [JR21017087 M12x175 70 18 10

121017016 M8x 12191316 JR21017052M12x1,25 25 18 10| |[JR21017088 M12x1,75 75 18 10

JRaloljon7| M8x L2135 1131 © JR21017053M12x 1,25 30 18 10| [JR21017089 M12x1,75 80 18 10

JR21017018 M8x1,2 40 13 6 | [151017054M12%1,25 35 18 10 R210170% Mildx2 40 21 12

1R21017019 M8x12 45 13 © | R21017055M12x1,25 40 18 10| [mro1700l Midx3 50 21 12

JR21017020 M8x12 30 13 6 | Ira1017056M12x1,25 45 18 10| [my1017092 123 160121l 2

JR21017021 M8x12 55 13 6 | [|r21017057M12x1,25 50 18 10 R2101709 | M1z x5 1 701 21| 12

JR21017022 M8x12 60 13 6 | [jr21017058 M12x1,25 55 18 10 R21017092 | M1ax6 1801 211 12

|R21017023M10x1,25 16 16 8 | |IR21017059M12x1,25 60 18 10| [ooromooc— o ——7 >0 1>

JR21017024M10x1,25 20 16 8 | [JR21017060 M12x1,25 65 18 10

JR21017025M10x1,25 25 16 8 | [JR21017061M12x1,25 70 18 10

JR21017026 M10x 1,25 30 16 8 | [IR21017062 M12x1,25 75 18 10

JR21017027M10x1,25 35 16 8 | ()R21017063M12x1,25 80 18 10

JR21017028 M10x1,25 40 16 8 | |)R21017064 M12x1,5 20 18 10

JR21017029M10x1,25 45 16 8 | )R21017065 M12x15 25 18 10

JR21017030M10x1,25 50 16 8 | |)R21017066 M12x1,5 30 18 10

JR21017031M10x1,25 55 16 8 | [)R21017067 M12x1,5 35 18 10

JR21017032M10x1,25 60 16 8 | )R21017068 M12x15 40 18 10

JR21017033M10x1,25 65 16 8 | )R21017069 M12x 15 45 18 10

JR21017034M10x1,25 70 16 8 | )R21017070 M12x15 50 18 10

JR21017035M10x1,25 75 16 8 | )R21017071 M12x15 55 18 10

NB: LE MISURE SONO IN “mm”.

J,I.Oll" San Giorgio delle Pertiche (PD) - Tel: 049-9370366 - e-mail: info@jollyricambi.it Pag.21-30

ricambi



